Question 16:

When calculating ATC and monthly, daily, weekly, and hourly AFC values, what time horizon(s) for CBM should be used and which reliability function(s) should make the CBM calculations?  Please explain

Response:

There are 2 parts to this question, the time horizon needed and who should make the calculation.  The drafting team will consider all of these suggestions.

Time Horizon:

6 entities thought CBM should be calculated for all time horizons (monthly,daily,weekly,hourly). 

[APS, ENTERGY (by implication), KCPL,SOUTHERN,MEAG,NCMPA ]

(1 suggested it should be LSE determined) (Entergy)

3 entities who thought the TSP should determine the needed values (MidAmerican, MISO,MRO)

(one suggested hourly values) (MRO)

1 entity suggested horizons for operating reserve and planning (APPA)

1 entity suggested 2 horizons: hourly & daily(operating) and weekly & monthly (planning) (AECI) 

1 entity that wanted continuous updates (implies all time horizons) (Grant County PUD)

1 who suggested (that all LSEs be held to) the same time horizon for consistency. (ODEC)

1 entities who suggested it be RRO defined time horizons  (KCPL)

ERCOT suggested it be non-transaction based.  (need to know what they mean)

Who should calculate (reliability function):
6 entities said the LSE should make the calculation    (APPA,APS,ENTERGY,MEAG,NCMPA,WECC)
(Entergy suggested it be the Reserve Sharing group if the LSE belonged to one.  – good suggestion. Also suggested it be the BA for a collection of LSEs within the BA. )

1 said it should be the Resource Planner.  This is most likely also the LSE so that the total for the LSE should be 7. (Duke)
4 entities said it should be TSP calculated (IESO,MidAmerican,MISO,MRO)

 with 1 of those saying it should be based on LSE input. (IESO)
1 said it should be determined by NAESB (Manitoba)

Several entities declined to comment because MOD 001 is not a CBM standard. 

(HQT,IRC,ISO-NE,NPCC CP9,NYISO)
Response:

The drafting team wanted input from all entities BEFORE writing the CBM standard and this was the most convenient place to ask this question.
